Eaoaeia

178880 / Ne&fiodil / Ocdé: 82 ELECTRICAL SYSTEM

114860i=210065 Eaoasia=45P Neéfiodia 82 ELECTRICAL SYSTEM
Eéspfiodaney: 215 Océé: LIGHT RANGE ADJUSTER ELECTRIC

B3
8 [
&} 50 ED
& ? @ L
‘Eg 14 T R ALLL [ orrrrrrr 20
=2 (&) 41
|||
iy
T ___;:f,...ll
LT
HE
-l
44 . vl
47 EW A==
14 | o5
17 @ : ' e P T P === 29
32—
1 Eia Caidia |E-a1|Aad-o lacaaied Ei6ioiacey | ogid+aiey
005 |A2108202526 |2108206126 |- CONTROL UNIT
005 2108206126 001 CONTROL UNIT LIGHT RANGE ADJUSTER *880 *881
ELECTRIC
005 2108206426 001 CONTROL UNIT LIGHT RANGE ADJUSTER *890
ELECTRIC
008 0029943045 002 LOCK CONTROL UNIT
011 |2105405213 001 (L CABLE HARNESS LIGHT RANGE ADJUSTER *880 *881
ELECTRIC
011 2105405313 001 R CABLE HARNESS LIGHT RANGE ADJUSTER *880 *881
ELECTRIC
011 2105407735 001 (L ELECTRIC CABLE LIGHT RANGE ADJUSTER *890
ELECTRIC
011 |2105407835 001 R ELECTRIC CABLE LIGHT RANGE ADJUSTER *890
ELECTRIC

http://www.detali.ru/cat/oem_mb2.asp?TP=1& F=210...GA=722%2E607& CT=F& cat=45P& S| D=82& SGR=215& SGN=08 (1 of 2)2/10/2006 1:06:35 PM



http://www.detali.ru/cat/oem_mb1.asp?TP=1&F=210065%5F45P&M=112%2E941&GA=722%2E607&CT=F&cat=45P&SID=82&SGR=215&SGN=08
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA2105461943
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA2025463343
javascript: alert('��������� ��������� ����. �������� � �������.');
javascript: alert('��������� ��������� ����. �������� � �������.');
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0085455526
javascript: alert('��������� ��������� ����. �������� � �������.');
javascript: alert('��������� ��������� ����. �������� � �������.');
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0325458828
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0085458026
javascript: alert('��������� ��������� ����. �������� � �������.');
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0175454228
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0085456326
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0085456326
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA2105403681
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA2105403681
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0085455326
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0085455326
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA2105456928
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA2105456928
javascript: alert('��������� ��������� ����. �������� � �������.');
http://www.detali.ru/office/galley.asp?CAT=MB&sm=1&code=gmbA0029943045
javascript: alert('��������� ��������� ����. �������� � �������.');
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2108206126
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2108206126
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2108206426
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA0029943045
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2105405213
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2105405313
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2105407735
http://www.detali.ru/cat/..\office\galley.asp?cat=MB&sm=1&code=gmbA2105407835

MDmode = 1, Car ™ 210065 E 320:E 320 JAPAME 320 054 = 2100065 = g2 ELECTRICAL S¥STEM =  Z15 LIGHT RANGE ADJUSTER ELECTRIC =
- o _?‘- :
@ i & w

| Item na. Park nurmber Designation)descripkion Cuankiky Yersion

M &5 8210545 69 25 = PIN BUSHING HOUSING ooz

LIGHTIMG LINIT

. I (1] A 008 545 53 26 = CONTALT SPRING ME
: 0.5-1.0 MM2

o £S5 A 210540 36 81 = CLUTCH ooz

TURMIMNG AMGLE SEMZOR 6-PIMN MO5S
E5 70 & 005 545 63 26 - FEMALE CONTALCT ME
0.5-0.75 MMZ2 MOQS
| I 75 A 017 545 42 28 = PIN BUSHING HOUSING ooz
CONTROL UINIT

. r a0 A 011 545 81 26 = COMTALT SPRING nE
: 0.5-1.0 MM2 IPT

o a5 |+ & 000 540 53 05 = REP.SET CONTALCT ME

FIISE BOx 2.5 MM2

| ) [002] COMMECTORS MUST ALSO BE

& a0 & 032 545 55 28 - PLUG ooz

FUSE aMD RELAY BOX,DRIVER 2-PIN 110
SPT 115

I o5 A 004 545 52 26 = COMTALT SPRING nE
: 1.0-2.5 MM2 5PT

& o5 & 004 545 00 26 - FEMALE CONTALCT ME

2.5-4.0 MMz SPT
& 105 + A 000 540 46 05 = ELECTRICAL CABLE ME
SAM COMTROL UMIT 0,75 MM2 MOS
L) [002] COMMECTORS MUST ALSO BE
I 110 A 0534 545 53 28 = PIN BUSHING HOUSING ooz
HEADLAMP YWIPER 'WASHER PLIMP 2-PIR
JPT
T 115 + & 000 540 25 05 - ELECTRICAL CABLE ME
2.5 MMz JPT
=

85

1 i~
U

MIEEE



AN82.10-P-0002-03FF

Retrofitting wiring harness of headlamp
range adjustment

Model 210 up to 30.6.99 LHS

A51

A52

El

E2
F1-15
N7-1
N71

W15/1
X11/4
X62/21

2 Modify wiring harness as shown in illustration. Cut open
wiring harness insulation for this step (arrow).

Prepare wiring harness as shown
in illustration.

Extended cable

Cable connector

Headlamp range adjustment rear
axle sensor

Headlamp range adjustment front
axle sensor

Left headlamp unit

Right headlamp unit

Fuse 15, circuit 15

Light module

Headlamp range adjustment
control module

Ground, right footwell

Datalink connector

ASR wheel speed signal/
electronic traction system (ETS)
rear left cable connector

E2
8-

W15

X821

4 === -

N71

3 Cut through brown cable about 10 cm behind the round cable

lug and strip insulation on both sides over about 15 mm.

4 Cut commercially available brown cable with cross-section of
1.5 mm2 to length of 1.8 m and strip insulation at both sides
over about 15 mm.

8 Route wiring harness of xenon
headlamps in vehicle as shown in the
illustration.

A51

A52

El

E2
F1-15
N7-1
N71

W15/1
X11/4
X62/21

Headlamp range adjustment rear
axle sensor

Headlamp range adjustment front
axle sensor

Left headlamp unit

Right headlamp unit

Fuse 15, circuit 15

Light module

Headlamp range adjustment
control module

Ground, right footwell

Datalink connector

ASR wheel speed signal/
electronic traction system (ETS)
rear left cable connector

P82.10-0474-57

5 Turn cable with round cable lug and brown cable together

and solder together with cable connector (2).

6 Connect other ends of the brown cables with cable connector

(2) as described in steps 3-4.

7 Re-enclose wiring harness with PVC insulating tape.

© Daimler AG, 5/15/17, G/01/15, an82.10-p-0002-03ff, Retrofitting wiring harness of headlamp range adjustment
MODEL 210 up to 30.6.99

P82.10-0476-57

Page 1 of 4



9 Route black/purple and purple cables into the fuse and relay box (F1).
10 Connect black/purple cable to fuse box receptacle "A" assignment 15.
11 Insert 15A fuse at fuse carrier assignment 15.

12 Insert purple cable at data link connector (X11/4) receptacle 35.

13 Route 6-pin sockets (3 in total) from interior through the fuse and relay box (F1) into the
engine compartment.

E Remove grommet of wiring harness; is not required.

F1-15 Fuse 15, circuit 15

14  Route 6-pin sockets at left wheelhousing to the left headlamp opening and attach.

E1 Left headlamp unit (socket)

15 Route other branches of the 6-pin sockets in front of the radiator to the right headlamp
opening and attach with cable straps (arrows).

16 Route longest branch with 6-pin socket from the right headlamp opening along the main
wiring harness to the right of the front axle and attach.

A52  Headlamp range adjustment front axle sensor (socket)
E2 Right headlamp unit (socket)

© Daimler AG, 5/15/17, G/01/15, an82.10-p-0002-03ff, Retrofitting wiring harness of headlamp range adjustment
MODEL 210 up to 30.6.99

.l-l-'--_._._'-

E.\,\-—_ﬁﬁi?

A

P82.10-0479-17

E1

f

P82.10-0480-13

P82.10-0482-13

Page 2 of 4




17 Route extended brown cable, green/black cable and 6-pin socket below the plate (F) of
the rear seat bench behind the rear fuse box (F4) to the right cable duct and attach with
omega clips (E).

E Rework plate (F) so that wiring harness does not chafe or is squeezed.

18 Route extended brown cable and green/black cable in cable duct to the cable connector
(X62/21).

19 Connect green/black cable to the cable connector (X62/21).

z Cable connector

20 Connect extended brown cable at the ground point (W15/1).

21 Detach purple vacuum line at vacuum distributor (arrow) ahead of the control module
box (F23/1) (is no longer required).

22 Install xenon headlamps and connect wiring harness.

Models without stationary heater/ heater booster
23.1 Make hole (15) in area of fuel pump assembly at spacing G with @& 28 mm.

A Danger!
Do not damage cables of rear fuse box.

Models with stationary heater/ heater booster
23.2 Use grommet of fuel metering pump.

24 Route 6-pin socket to rear axle sensor behind rear fuse box to the outside.

G 40 mm

© Daimler AG, 5/15/17, G/01/15, an82.10-p-0002-03ff, Retrofitting wiring harness of headlamp range adjustment
MODEL 210 up to 30.6.99

P82.10-2526-01

Page 3 of 4



25 Make holes for attaching headlamp range adjustment control module (N71) with a drift
according to spacings C and D in the area below the left rear seat.

E Use headlamp range adjustment control module (N71) as a template.

26  Attach headlamp range adjustment control module (N71) with bolts (3) and washers (4).

27  Connect socket to the headlamp range adjustment control module (N71).

Location below left rear seat
3 Bolt BZ4.8X13

C  Spacing 80 mm

D  Spacing 230 mm

28 Insert yellow/black cable into receptacle 10 of the 21-pin socket "A" of the light module
(N7-1).

29 Install new trim ring at light module (N7-1).

30 Tie back headlamp range adjuster (do not disconnect).

.....
......

P82.10-0541-13



Document number: pe82.10-p-2000-99b

Document title:

Code:

A51
A52
El
Elel
Ele3
Ele8
Eliml
Elnl
Eln2
E2
E2el
E2e3
E2e8
E2m1
E2nl
E2n2
F1
F1f15
N7-1
N71
N71
N71
u12
u13
W16/3
W16/4
w18
X11/4
X24/5
X62/21
Z90

Wiring diagram of exterior lights

Designation:

Headlamp range adjustment rear axle sensor
Front axle sensor (headlamp range adjustment)
Left front lamp unit

Left high beam

Left standing and parking lamp

Left low beam xenon headlamp

Left headlamp range adjustment motor
Xenon headlamp control unit

Xenon headlamp ignition module

Right front lamp unit

Right high beam

Right standing and parking lamp

Right low beam xenon headlamp

Right headlamp range adjustment motor
Xenon headlamp control unit

Xenon headlamp ignition module

Fuse and relay box

Fuse 15

Light module

Headlamp range adjustment control unit
Headlamp range adjustment control unit
Headlamp range adjustment control unit
Valid for left-hand drive vehicles

Valid for right-hand drive vehicles

Power ground (left wheelhouse)

Power ground (right wheelhouse)

Ground (left front seat crossmember)

Data link connector

Headlamp harness connector

Terminal block (left rear traction system VSS [GES] sensor)
Left rear axle VSS [GES] connector sleeve

Position:

20L
9L
3L
6L
7L
4L
2L
4L
4L
16 L
14 L
14L
6L
17L
15L
5L
22L
21K
12L
4A
12 A
20A
10H
10H
6C
14 G
15E
14 E
7F
23 E
25E



17

16

15

14

13

12

11

10

N71

N71

58

56a

56b

56a  56b

58

[ Affix vww.m

E2 ml

nl n2 e8

e3 el

ele3

E1l e8 n2 n1

ml

- uub o't L
s s
- sm/ib §'0 L 1
(2] - 5
= ——
- 16/1q G*
,9 /14 G°0 zi
- 1650 -
5 “ |
- 8616 0'T =
w [Tolu —
o
0g'T S , ¥
TE m) |
= 2 | =T
| s R
~ .. -
- ng'0 3 g asz o _-w -
© g o = ,
x = 8 X
<
[= 2 N
o |
A A
AN
7 U6 G'0 =
. N~ o~
()]
d
7 SM Q'T —
i < ~
e
‘ 7 abg'T . )T x
. S
' msEbGT o
| o
i MS/SM 0'T (=
© ~
7 N
ms/b G20 =
N ™ 3
7 — - ~
-] M\ m
- ms/eb g'0 -
~ 3
msyb G20 - Ms/16 G20
™
L MS/SMQ'T MS/SM Q'T —
<
lgg'e - lgg'e
-
o omsEbgT 1 msEBGT
N
4 ©
<
0 N
o x , i
%) ] ™
- o 44 h S
2 .
d ‘ L o= -
= msib GL'0 -
-8 =
MS/SM 0'T N 7
i S
lgs'e 7
ms/ab g1 '
/ 0 |
« <] .
8 |
< i
K , | [
- 8bubo'T [=
3 I
-~ ubgo L
9 ™
- ubuggo =
o~ o~ J
- swub g‘0 L 14
o~ -
— i
- uub o't -
] ™ |
N
o o a w w o T 7 - x

17

16

15

14

13

12

11

10

e2here ¥

Page 1|of 2

© Daimler AG, 5/15/17, G/01/15, pe82.10-p-2000-99b, Wiring diagram of exterior lights

MODEL 210 with CODE (612b) Gas discharge headlamp units



18 19 20 21 22 23 24 25 26 27 28 29 30 31 32
A
% N71
A‘ ©
9
i} Lo Lo 1 ] s
21 17 47157 87 11710 14 s]
c ¢ 5 2 s z
1E 5 ¢S5 ST s 2
P = g = s a2 9 © 12 5
» 2 o o o Cc
o) n W © 0
PR n 0 s © - )
> o © o
D
| - 02/97 03/97 —
- X62/21 Z90
E
T
=
2
5 F
0
o
G
s H
4
S
J
15A
\ - = J—
! —
4 1.5 - a4 15 0 ' ‘5
o1 - 159 \
TT T [ \ GES K
A / e ) | (
<0 RO 157 PE 00.19-2100
15E
A52 A51 F1
L
PE 82.10-P-2000-99B
18 19 20 21 22 23 24 25 26 27 28 29 30 31 32
O
=y
=
>
@
s
@

© Daimler AG, 5/15/17, G/01/15, pe82.10-p-2000-99b, Wiring diagram of exterior lights Page 2 of 2

MODEL 210 with CODE (612b) Gas discharge headlamp units



PE82.10-P-2000-60B

Legend for wiring diagram of exterior lights |MODEL 210 with CODE (612b) Xenon

headlamps

Item Designation Coordinate
A51 Rear axle sensor (headlamp range adjustment) 20L
A52 Front axle sensor (headlamp range adjustment) 19L
El Left front headlamp unit 3L
Elel High beam 6L
Ele3 Standing and parking lamp 7L
Ele8 Low beam xenon headlamp 3L
Elml Headlamp range adjustment motor 2L
Elnl Xenon headlamp control module 4L
Eln2 Xenon headlamp ignition module 4L
E2 Right front headlamp unit 16L
E2el High beam 14L
E2e3 Standing and parking lamp 14L
E2e8 Low beam xenon headlamp 15L
E2ml Right headlamp range control motor 17L
E2nl Xenon headlamp control module 151
E2n2 Xenon headlamp ignition module 151
F1 Fuse and relay box 22L
F1f15 Fuse 15 21K
N7-1 Light module 12L
N71 Headlamp range adjustment control module 4A
12A
20A
u12 Valid for LHS 10H
ui13 Valid for right hand drive 10H
W16/3 Ground (output ground-left wheel housing) 6C
W16/4 Ground (output ground - right wheel housing) 14G
W18 Ground (left front seat crossmember) 15E
X11/4 Data link connector (DTC readout) 14E
X24/5 Headlamp wiring harness connector 7F
X62/21 Terminal block (left rear traction system VSS [GES] sensor) 23E
Z90 Left rear axle VSS [GES] connector sleeve 25E
© Daimler AG, 5/15/17, G/01/15, pe82.10-p-2000-60b, Legend for wiring diagram of exterior lights Page 1 of 1

MODEL 210 with CODE (612b) Leuchteinheit Xenon-Scheinwerfer



AN82.10-P-0003-01FF

axle sensor

Retrofitting headlamp range adjustment rear

Model 210 ‘

13
14
15
16
17
18
19
20
21
22
23
24
A51

Assemble rear axle sensor (A51) and
install, as shown in illustration.

Plug in 6-pin socket at rear axle sensor
(A51).

Holder

Bolt M5x8 (self-locking)
Nut M8 (self-locking)
Cable clip

Fixture

Bolt M6x20

Nut M6 (self-locking)
Lever

Nut M6 (self-locking)
6-pin socket of rear axle sensor
Washer

Nut M6 (self-locking)

Headlamp range adjustment rear axle
sensor

P82.10-0491-57




AN82.10-P-1000-01FF

axle sensor

Retrofitting headlamp range adjustment front

Model 210

Assemble front axle sensor (A52) and
install, as shown in illustration.

Plug in 6-pin socket at front axle
sensor (A52).

Holder

Bolt M5x8 (self-locking)

Bolt B6.3x16

Lever

Nut M6 (self-locking)

Nut M6 (self-locking)

Omega clip

Headlamp range adjustment front axle
sensor

/i

."m’ T > ’i(

\

T

P82.10-0488-57




GF82.10-P-0001-01B Headlamp range adjustment (HRA), location
of components

Model 210 with code (612b)
Xenon headlamp unit

*"GF

[i]

The axle sensors (A51 and A52) may look

different depending on the vehicle
production period and sensor manufacturer.

A51 Rear axle sensor (headlamp range
adjustment)

A52  Front axle sensor (headlamp range
adjustment)

El Left front headlamp unit

E1lml Left headlamp range adjustment
motor

E2 Right front headlamp unit

E2m1l Right headlamp range adjustment
motor

N71  Headlamp range adjustment control
module

© Daimler AG, 5/15/17, G/01/15, gf82.10-p-0001-01b, Headlamp range adjustment (HRA), location of components
MODEL 210 with CODE (612b) xenon headlamp unit

P82.10-0293-06

Page 1 of 1



Test program - Electrical system Testing

control module (N71).

= j% Scope of test Measuring instrument/ Operation/requirement Specified value | Possible cause/remedy
test connector
1.0 Headlamp range N71 Disconnect connector from |11-14V Model 129
adjustment control module |18 — aa )>— 16 |headlamp range adjustment Fuse F1-f10 in fuse and relay box
(N71) control module (N71). (F1)
Voltage supply Ignition: ON
Model 140
Fuse F4-f4 in fuse box in trunk (F4)
Cables
=11
11 Control voltage N71 Remove connector from 11-14v Model 129
18 —< -~ >— 10 | headlamp range adjustment Fuse F1-f6 in fuse and relay box (F1)
control module (N71).
Low-beam headlamp: ON Model 140
Fuse F3-f7 in 35-unit fuse box (F3) in
fuse and relay box (F1)
Cables
=12
1.2 Check diagnosis cable for N71 X11/4 | Remove connector from <5 Q Cable
continuity 9 — <@*  >— 35 |headlamp range adjustment






